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FELADATLAP 
1. szöveg 

 
 
Az alábbiakban az előrehaladott rákos megbetegedések tüneteinek kezeléséről hall egy 
szöveget. A felvétel alapján oldja meg a feladatokat. A szöveget kétszer hallgathatja meg.  

 
 
I. A hallott szöveg alapján egészítse ki az alábbi összefoglalót. Válaszaiban legfeljebb EGY 
angol szót hasznáhat. (5 pont). 
 
A patient with advanced cancer may have many symptoms. Some symptoms are common and 
they are treated with simple measures. (1)  ____________________ is a very common 
symptom, it can affect 80% of patients. This ailment is induced by drugs, like (2) 
________________.  
The cause of constipation might as well be some side-effects of anti –cholinergic character, 
triggered by (3) _____________________________, which belong to the group of tricyclic 
drugs.  
Bowel problems are frequently (4) _______________  by dehydration and  
(5) __________________ in patients with advanced cancer. 
 
II. A hallott szöveg alapján egészítse ki a következő 5 hiányos mondatot. Válaszaiban 
mondatonként legfeljebb 2 angol szót használjon (5 pont). 
 
1. Constipation can be accompanied by symptoms that mimic features of cancer and they 

may develop in the abdominal area causing abdominal pain, _____________ 
________________, anorexia and nausea. 

 
2. Laxatives (codeine frumol, codeine frusate) are given to prevent constipation and their 

dose is  titrated until the patient is able to produce a ____________________________. 
 
3. If the rectum is empty: _________________________________should be excluded. 
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4. Arachis oil enema, glycerine suppositories or bisacodyl can be used if the rectum is full 

but if there is no success, __________________________________________ may be 
required.  

 
5. If the constipated patient is not experiencing colic, the doctor may prescribe a 

__________________________________. 
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2. szöveg 
 
Az alábbiakban a Turner szindrómáról hall egy szöveget. A felvétel alapján oldja meg a 
feladatokat. A szöveget kétszer hallgathatja meg.  
 
I. A hallott szöveg alapján egészítse ki az alábbi hiányos mondatokat kijelölt helyenként 

legfeljebb 4 odaillő angol szóval. (4 pont) 

Turner syndrome is a condition that ________________________(1) about one out of every 

2,500 women in the US. 

Sufferers typically have a defect in their sex chromosomes, _______________________(2) 

and are missing ovaries or other secondary sex characteristics. 

Affected girls used to be treated like dolls as they looked much younger than their 

_________________________________(3). 

In the 1990s the use of growth hormone for the treatment of Turner syndrome was approved 

by the ___________________________________(4). 
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II. A hallott szöveg alapján töltse ki az alábbi táblázatot. Kijelölt helyenként legfeljebb 4  
angol szót használhat (6 pont). 
 

THE HORMONAL TREATMENT OF TURNER SYNDROME 

 

HORMONE EFFECT 

 

growth hormone - final adult height: ______________________________ (1) 

 

oestrogen 

 

(according to Dr. 

Ross’s research 

findings) 

- brings on menstruation 

- brings on ____________________________ (2) 

- improves self-image 

- improves ____________________________________ (3) 

- improves ____________________________________ (4) 

- helps prevent _________________________________ (5) 

- essential for the production of ____________________ (6) 

  
 
 

 
 
 

 

 


